
subst : LC → V → LC → LC

subst(x,y,e’) = e’                                     when x=y

subst(x,y,e’) = x                                      when x≠y
subst(e1 e2,y,e’) = subst(e1,y,e’) subst(e2,y,e’)

subst(λx. e,y,e’) = λx. e                                when x=y

subst(λx. e,y,e’) = λx. subst(e,y,e’)               when x≠y

e ⩴ x | e1 e2 | λx. e
fv : LC → 2V

fv(x) = {x}
fv(e1 e2) = fv(e1) ∪ fv(e2)
fv(λx. e) = fv(e) \ {x}

λx. e =α λy. e[y/x] when y ∉ e

(λx. e1) e2 =β e1[e2/x]

e1[e2/x] ≜ subst(e1,x,e2)


